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1. Find the volume of a solid, base a circle x2 + y2 =1 and cross section
perpendicular to the x axis being:

vYa) a semi-circle

vb) a square

/) a right angled isosceles trxangle hypotenuse on base

vd) an equﬂateral triangle

2. Find the volume of a solid, base an ellipse x2 + 4y2' = 4
and cross section perendlcular to the Y axis being:
;/af) a semi-circle .
+B) a right angled isosceles triangle, hypotenuse on the base
~C) a square

3. Find the volume of a solid, base the area enclosed by the parabola
= 4y and the line y = 4, with cross section perpendicular to the Y
axis being: '
‘v’é) a semi-circle
) an equilateral triangle.

Answers:
1a)_2_’£, b)ﬁ, C)_A’_, d)‘i_"‘[—_z
3 3 3 3

3a)16m, b)32.3
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